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FIWhat is the height after useof thouing ball?
ANSIheight means hit)

after4 dl throwing means EY
h\4)-100-4.9-42= 100=4.9.16-100-78.4

h/4)=21.6m-



Problem2) - Siren figure

in _- I
!I-10*

YY,:ï

_

x

ïï
six)2.1) Explain transformations of six)wrt fix)=X?

the: translationsonly re-quire looking atthe vertex

_

.
\.

... ïïflees

s tlontontal translationsof 3 units left
a)Vertical translation

on

of 10 units down

3)

5

vertical stretchby
Itar-fontalcompression by

f(3)E 9
%o)=15

15
_

9
= E
3J

2.2) Sketchhe)EseX-6)+5



2.2) hix)=ig(X-6)+5= !_ I I _ï +5=

= k
SCKF5 t_1310-10

01 s( 1to+7
_

e
X-6

ism(X- 32-5 = _
5
6 (4-3)-5

I_ it

m.

5

on.01.0132.5= as.5
=I-5s_

2

Y
f
5

y)!!ï.


